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When she is a 19v1, yes; when she is a 7711up, no

OVERVIEW

The mwn states that a man may be w7pn his daughter when she is a 77v1. The
X713 argues that the inference of this 71wn is that a father can only be wpn
his daughter when she is a 77v1, but not when she is a 71vp. Our MBOIN
discusses how the Xn3 realized this inference.

nooIn asks:
— 11315 19 H9) DY) VDI NINITY NNPYT 9NN ON)

And if you will say how can you infer from the word 77¥1 that it excludes
mvp, but perhaps the miw» mentioned 79Y1 as a novelty that he can be
wIpn even a 7¥1, and he can certainly be w7pn his mawp 1n2?!

Mo0IN answers:
— 11993 1N NN YIPN YIND NP XD N9¥) NOAYI NPT 79977 9297 UM

And one can say that the X723 infers this exclusion since the 71w» states

7wl 'R and it did not state 7Y M2 DR WIPR WINRT without the '\onwa',
this extra word X°7w> (when she is) -
— VP XY HAN N9YI NPT YNRYUN

Indicates that he can be w7pn his daughter only when she is a 791, but not
when she is a mIuvp.

mooin offers an alternate explanation:
— OND NI NX YWIPN YIND 1PNINNIA NP NI P11 9D ¥ 91) ON

Or one can also say that the X773 infers this exclusion since the /mwn did

not state simply 102 R WPR WONRT without adding the words w1 ®omw> -
— X971 %3 219y w991 KDY YVITPI 1IN YNIT ARD (3,m 97 mano) INTD

As the mwn» teaches elsewhere; the father acquires the 1Pwy7>P of his

daughter and there it does not specify 79wz as it does here -
$NIVP NI RPIT %N NIV WIDNT XINT ¥NRYUN

This indicates that since here he specifies 7y1, it specifically means only
a 71 and not a Iwp.

' A 71vp is more in the possession of her father than a 77w1 is. If the father has the right to be 77v1 112 wpn,
then he certainly has the right to be 7P 102 WIpnH.

It is generally ‘known’ that a father has rights over his daughter even when she is a 771 (including the
rights of 7w17°P) until she becomes a N7312. Once she is a 17312 she is completely independent of her father.
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SUMMARY
The X713 infers that 77v1 excludes 7vp either from the (extra) word X>7W2 or

from the extra phrase 77v1 X7w>.

THINKING IT OVER
What are the relative advantages of each of 900 answers?’

3 The words of the X3 are: X9 TI0R ROTIWI PR 7V ROWD.
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